[ ONRBURIRS , AR\ T e ERE —

e 2

o 4 - = (oo &--- 0
dile % | wep-dEtk

Prle 8 ™o e b
AL 6

2’1 o ?

@) «

@) 25" .
3) 21 ':> 2 "r@\\\
&
;=
o, P
2 D)
3
7 Fat
@2 ¥
jﬂ= c s B
= ETI\V\C
(3)(4)7%
b,
— — 3
U) 0343 = p 3y -= %
() - _
034 > 0.3 = i\
) —
034 > 0,343
S O\ﬁ < 0035 )
7 L 3 (MWL
) D343 = 034 &2)\3)%)’/_#

P



i _,2 e (hz) (=2.=D, (—®) %()9(]7%7;&
[ 2 0 - L?
g 3 ¢ 0 B 3FEA =K KA 2 (A
)] 0 -2 |
th 5 ) 4 o - ~22 (@)
84\ —
3 F\ (L2), —Fi—(—'l—l> x)f}\/\\:g\i‘ 2R = (’)
’ r
/P% \‘JFNW ny F\ Y—FZ 2 \#% Lo o),
= 2@:JQ1+L+Z= 2[5 = zb=Y
F i TReLRES
> X
Q
|
M8 7
8~(” \/(:55—5/\}9 'g( %é\ 34
& (3|3 UATY
MR F AT TS < (%bbi»@—%’j <8 2
¥ o_p % l
MR EL R —
7* /(;_ (ﬁ %7{1 - o %£ ? % ﬁ;;/{'('
%‘Tif 0%@3 %7’5%%’\‘3( fug A
34 CRAARRIE paeid e A9
5 = (+%+4+5+‘?+(o+6+’)+3 .5
N = _____,___————’——’— -
%E%&Wp= | 3.455,66,18 | B -
: ;/L:fzz—rly-r KPR "+ 2 +3 ‘
REaE
| B 124 1
Z 0
B e th (%) "'%i 2
%7[% Xég ((ou’)(ﬁ"z%o) 7] 2

(NDBY B

—_—



° - 00 Yy
WENLEG @ BA-EG= 0 (9

o) G L T 5 EF =0 (o)

2 EF’%’ H= "6—272/;2 (o)

: Atoc L EBRLIREDT §$ F—fﬂfc; 5 EC-ACEe )

G| .

S - BB+ TH= &
BE+ &4t TH = -
/

RS AR T ALY S

A
( . 3
S RERREHE AR RS
5 sxob=ay %
Z
*
3 X%\\\ E%%%{ L
DD (‘ OB) (g)
2 xe o) g g x = Loy o3 Lo bo(2f =0.12
:Qng 1345
Ew/\ = (oo % (1343 T34 4,
N T %3 *g’\’}ji})é)@»é ' /:Q‘A?%(m '
\ ) -9 {2\0\
&0 Béﬁ\\i\?( > F: T
HH ) ) S —6f=j20-a
f ] 4 ~ (o
N%L(\;' {2 /AO\IF —> @ Qz~/20{~éL{_;o
) x 2 a=16 or Y
2 (a,-p) y )

—_—

D, (2—%5)/3: i —9/3:2\@ |

o1

151 p bR ddato

2tJ3 ‘bﬂ = Tonf+ ot @

G fon 6+ st = Y_l,\ 2 tawd « L - ¢ S —hmz@_ 4 tong + l_—_o
Tand
4t (2 — R —
> tange T2 gy (MM ) 5 Tont = 203 ZAN
A 0<fang<| —

72

e ————



> 50.6=200 9 = (3NE )

= U ¥ —2&%= 2429 2

=

N g7

gooo

600 =
b (o}
2 000

to()() ’ ‘f + ¢ = é =
((000 ,45 >L+ (3 000 )2~ QZ/WD )l

(oooJ'}

NS

;331= jgom;+ipo;~—2\3000~Qooo~00560

D+ -y

2- {oooJﬁ + 3000

STn ﬁ:\%%o\ém}: Shngl
TXER Y@ 548 p BE
i

g - '\4‘# 1/“74 = z» l L = L
W -2k Ha ¥ <A 5 l+gx5= 5
-::1/\ __Lﬂ‘
ﬂi *- = E?X 2 = 3
-
a b x ([ & 2, > 24thky=12 3 0(+25l=b
ﬂﬂ%M%é |
Xlblylelo
Y 1213
56
56+ \= 12
L. |
br x5 2 qp
& 3
j\ —_ gro=]
Plziz) VA Pb = (2.4\2>;§D£\m%.
Li:ﬁ:7 C@ﬁv&oé¢é£%%ﬂ

8 (45.75) = 2‘><+43+28= 2b

> ¥ty tR = (3

=9.317

Sl v

é«/j



